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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

1 NS: G308 ZI3C#gGHo) -1 14 NS: ZBigsl BRER(BAC) 13 VP:| 5.32 14.68 | Total VP: 124.56 Rank:
EW: BEEISZ FREIEAC) -13 EW: 5H#HE ZHE(B0) 1 IMP:| 16 29 9
# 17 # J6543 3NS-2 -100 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2HS2 110 Mean: 2SN3 140 20 3
v 74 3NS-1-50 40  2SS3 140 3.0 1 v AJ97 2SN-1-100 80  2HN3 140 20 2
+ KQ854 Dif: -50 NS:-4 2DN4 130 3.0 1 + A Dif: 210 NS:1 2DW-3 150 20 1
»4 IMP: -2 EW:3 2SS2 110 2.0 4 » 982 IMP: 5 EW:5 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DS-1-50 Mean: 4HE-2 200 50 2 ||#20 s AT2 2HE3 -140 Mean: 4HE-2 200 8.0 1
v J732 4HE-2200 30 4HE-1 100 20 3 v Q42 3NW-1 100 -150 3NW-2 200 8.0 2
+ KQ2 Dif: -250 NS:-2 3DS3 110 20 1 + KJ952 Dif: -240 NS:0 3NW-1 100 60 3
& 53 IMP: -6 EW:-5 3DN3 110 2.0 2 & 82 IMP: -6 EW:-6 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-150 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE4 -180 Mean: 3NE-2 200 60 2
v 653 6DE-150 -310 5DE5 400 -3.0 4 v QT652 1NE1-90 -50 1NE-1 100 40 1
3 Dif: 0 NS:8 3NW4 430 -30 3 ¢ 63 Dif: -90 NS:-4 1NE1 90 1.0 8
& QJT873 IMP: 0 EW:-8 3NW3 400 30 3 & A85 IMP: -3 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 -630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 4HN4 420 Mean: 5HN5 450 6.0 2
v A763 3NW-1100 -460 1NW4 180 7.0 1 v K983 3DE3 -110 230  4HS4 420 50 1
¢ AT2 Dif: -730 NS:-5 1NW5 210 6.0 1 . Dif: 530 NS:5 4HN4 420 50 2
& 42 IMP: -12 EW:-11 3NW3 600 -40 3 & AQJT5 IMP: 11 EW:8 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

2 NS: Z$EE EHFI(BEO) 7 3 NS: KB L RZ(BAC) -3 VP:| 13.45 : 6.55 Total VP: 124.12 Rank:
EW: B BE SR EEIC) 3 EW: M E#E 5RIEE(BAO) -7| IMP:| 13 : 4 10
# 17 # J6543 2DN4 130 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2DW-3 150 Mean: 2SN3 140 20 3
v 74 2SS3 140 40  2SS3 140 3.0 1 v AJ97 2SN3140 80  2HN3 140 20 2
+ KQ854 Dif: 10 NS:3 2DN4 130 3.0 1 + A Dif: 10 NS:2 2DW-3 150 20 1
»4 IMP: 0 EW:-3 2SS2 110 2.0 4 » 982 IMP: 0 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1 100 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW-1 100 Mean: 4HE-2 200 8.0 1
v J732 3DN3 110 30 4HE-1 100 20 3 v Q42 3HE3 -140 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 10 NS:2 3DS3 110 20 1 + KJ952 Dif: 240 NS:6  3NW-1 100 60 3
& 53 IMP: 0 EW:-2 3DN3 110 2.0 2 & 82 IMP: 6 EW:0 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 -430 Mean: 6DE-1 50 80 3 |[|# 22 4 532 3NE-2 200 Mean: 3NE-2 200 60 2
v 653 5DE5 -400 -310  5DE5 400 -3.0 4 v QT652 1NE1-90 -50 1NE-1 100 40 1
3 Dif: -30 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 290 NS:6 1NE1 90 1.0 8
& QJT873 IMP: -1 EW:3 3NW3 400 30 3 & A85 IMP: 7 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 -630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3NE-2100 Mean: 5HN5 450 6.0 2
v A763 3NW3 -600 -460 1NW4 180 7.0 1 v K983 3HS4 170 230 4HS4 420 50 1
¢ AT2 Dif: -30 NS:-5 1NW5 210 6.0 1 . Dif: -70 NS:-4 4HN4 420 50 2
& 42 IMP: -1 EW:4 3NW3 600 -40 3 & AQJT5 IMP: -2 EW:2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

3 NS: PRZFIR 48=ZEC) -3 2 NS: Z=§E58 T A(FH0) 7 VP:| 6.55 13.45| Total VP: 133.11 Rank:
EW: HhELNE TRIEREBEO) -7 EW: Bp & SE&A(BAC) 3 IMP:| 4 13 6
# 17 # J6543 2DN4 -130 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2DW-3 -150 Mean: 2SN3 140 20 3
v 74 2SS3-140 40  2SS3 140 3.0 1 v AJ97 2SN3 -140 80  2HN3 140 20 2
+ KQ854 Dif: 10 NS:3 2DN4 130 3.0 1 + A Dif: -10 NS:2 2DW-3 150 20 1
»4 IMP: 0 EW:-3 2SS2 110 2.0 4 » 982 IMP: 0 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1-100 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW-1-100 Mean: 4HE-2 200 8.0 1
v J732 3DN3 -110 30 4HE-1 100 20 3 v Q42 3HE3 140 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 10 NS:2 3DS3 110 20 1 + KJ952 Dif: -240 NS:0 3NW-1 100 60 3
& 53 IMP: 0 EW:-2 3DN3 110 2.0 2 & 82 IMP: -6 EW:-6 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 430 Mean: 6DE-1 50 80 3 |[|# 22 4 532 3NE-2 -200 Mean: 3NE-2 200 60 2
v 653 5DE5400 -310 5DE5 400 -3.0 4 v QT652 1NE190 -50  1NE-1 100 40 1
3 Dif: 30 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: -290 NS:-1 1NE1 90 1.0 8
& QJT873 IMP: 1 EW:3 3NW3 400 30 3 & A85 IMP: -7 EW:-6 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3NE-2 -100 Mean: 5HN5 450 6.0 2
v A763 3NW3 600 -460 1NW4 180 7.0 1 v K983 3HS4 170 230  4HS4 420 50 1
¢ AT2 Dif: 30 NS:-4 1NW5 210 6.0 1 . Dif: 70 NS:-2 4HN4 420 50 2
& 42 IMP:1 EW:5 3NW3 600 -40 3 & AQJT5 IMP: 2 EW:4 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

4 NS: SH#E EEEGH0) -11 5 NS: BREE St (BAC) -4 VP:| 7.23 12.77| Total VP: 115.11 Rank:
EW: ME&EL BEBEEIC) 4 EW: EE% 2121£(50) 11 IMP:| 10 17 12
# 17 # J6543 2SS2 110 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN3 140 Mean: 2SN3 140 20 3
v 74 2SS2110 40  2SS3 140 3.0 1 v AJ97 2SN-1-100 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:2 2DN4 130 3.0 1 + A Dif: 240 NS:2 2DW-3 150 20 1
»4 IMP: 0 EW:-2 2SS2 110 2.0 4 » 982 IMP: 6 EW:5 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100  -40 1 ||a& KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3DS3 110 Mean: 4HE-2 200 50 2 ||#20 s AT2 4HE4 -620 Mean: 4HE-2 200 8.0 1
v J732 4HE-2200 30 4HE-1 100 20 3 v Q42 3CE5-150 -150 3NW-2 200 8.0 2
+ KQ2 Dif: -90 NS:2 3DS3 110 20 1 + KJ952 Dif: -470 NS:-10 3NW-1 100 60 3
& 53 IMP: -3 EW:-5 3DN3 110 2.0 2 & 82 IMP: -10 EW:0 3HE3 140 0.0 1
& AT9832 a7 2SW-1 100 20 1 » 983 » KQ 3CE5 150 00 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW3 -400 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 -90 Mean: 3NE-2 200 60 2
v 653 5DE5 -400 -310  5DE5 400 -3.0 4 v QT652 1NE4 -180 -50  1NE-1 100 40 1
3 Dif: 0 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 90 NS:-1  1NE1 90 1.0 8
& QJT873 IMP: 0 EW:3 3NW3 400 30 3 & A85 IMP: 3 EW:4 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 -630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 5DXE-2 300 Mean: 5HN5 450 6.0 2
v A763 3NW5 -660 -460 1NW4 180 7.0 1 v K983 5HN5 450 230  4HS4 420 50 1
¢ AT2 Dif: 30 NS:-5 1NW5 210 6.0 1 . Dif: -150 NS:2 4HN4 420 50 2
& 42 IMP:1 EW:5 3NW3 600 -40 3 & AQJT5 IMP: -4 EW:-6 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

5 NS: BREEE =FEIC) 4 4 NS: fH4EE EZZ(FJ0) 1 VP:| 12.77 : 7.23 | Total VP: 116.19 Rank:
EW: BEE: 12 {21&EFH0) 11 EW: HER HBIR(EAC) 4 IMP:| 17 10 1
# 17 # J6543 2SS2 -110 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN3 -140 Mean: 2SN3 140 20 3
v 74 2SS2-110 40  2SS3 140 3.0 1 v AJ97 2SN-1100 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:2 2DN4 130 3.0 1 + A Dif: -240 NS:-5 2DW-3 150 20 1
»4 IMP: 0 EW:-2 2SS2 110 2.0 4 » 982 IMP: -6 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 110 1.0 1
¢T3 ¢ A72 28S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3DS3 -110 Mean: 4HE-2 200 50 2 ||#20 s AT2 4HE4 620 Mean: 4HE-2 200 8.0 1
v J732 4HE-2 -200 30 4HE-1 100 20 3 v Q42 3CE5150 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 90 NS:5 3DS3 110 20 1 + KJ952 Dif: 470 NS:0 3NW-1 100 60 3
& 53 IMP: 3 EW:-2 3DN3 110 2.0 2 & 82 IMP: 10 EW:10 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ 98 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW3 400 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 90 Mean: 3NE-2 200 60 2
v 653 5DE5400 -310 5DE5 400 -3.0 4 v QT652 1NE4 180 -50  1NE-1 100 40 1
3 Dif: 0 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: -90 NS:-4 1NE1 90 1.0 8
& QJT873 IMP: 0 EW:3 3NW3 400 30 3 & A85 IMP: -3 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 5DXE-2 -300 Mean: 5HN5 450 6.0 2
v A763 3NW5 660 -460 1NW4 180 7.0 1 v K983 5HN5 -450 230  4HS4 420 50 1
¢ AT2 Dif: -30 NS:-5 1NW5 210 6.0 1 . Dif: 150 NS:6 4HN4 420 50 2
& 42 IMP: -1 EW:5 3NW3 600 -40 3 & AQJT5 IMP: 4 EW:-2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

6 NS: SHEHH BRIEH(BHO) 5 1 O NS: BB REE(EAC) 11 VP:| 7.58 12.42| Total VP: 99.49 Rank:
EW: BRE BFEEIC) -11 EW: &5 ]t E(BJO) -5) IMP:| 12 18 13
# 17 # J6543 4DN-3 -150 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN2 110 Mean: 2SN3 140 20 3
74 3NS-1-50 40  2SS3 140 3.0 1 v AJ97 2HN3 140 80  2HN3 140 20 2
+ KQ854 Dif: -100 NS:-5 2DN4 130 3.0 1 + A Dif: -30 NS:1 2DW-3 150 20 1
»4 IMP: -3 EW:3 2SS2 110 2.0 4 » 982 IMP: -1 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1 100 Mean: 4HE-2 200 50 2 ||#20 s AT2 4HE-2 200 Mean: 4HE-2 200 8.0 1
v J732 2SW-1100 30 4HE-1 100 20 3 v Q42 3NW-1 100 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 0 NS:2 3DS3 110 20 1 + KJ952 Dif: 100 NS:8 3NW-1 100 60 3
& 53 IMP: 0 EW:-2 3DN3 110 2.0 2 & 82 IMP: 3 EW:-6 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW3 -400 Mean: 6DE-1 50 80 3 |[|# 22 4 532 2SE3 -140 Mean: 3NE-2 200 60 2
v 653 3NW3 -400 -310 5DE5 400 -3.0 4 v QT652 3NE-2200 -50  1NE-1 100 40 1
3 Dif: 0 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: -340 NS:-3 1NE1 90 1.0 8
& QJT873 IMP: 0 EW:3 3NW3 400 30 3 & A85 IMP: -8 EW:-6 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 1NW4 -180 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3HN4 170 Mean: 5HN5 450 6.0 2
v A763 3NW3 -600 -460 1NW4 180 7.0 1 v K983 4HS4 420 230 4HS4 420 50 1
¢ AT2 Dif: 420 NS:7 1NW5 210 6.0 1 . Dif: -250 NS:-2 4HN4 420 50 2
& 42 IMP: 9 EW:4 3NW3 600 -40 3 & AQJT5 IMP: -6 EW:-5 S5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




1128 F<E 2ABEREH

N

2 ==> R13

13

#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

7 NS: BREESH =2 (5H0) -3 11 NS: #F 5 BREE(BAC) 0 VP:| 10.86 : 9.14 Total VP: 125.86 Rank:
EW: BEfadn SEREIC) 0 EW: ERFfZ STRM(BAO) 3 IMP:| 26 24 7
-
# 17 # J6543 2CXE-2 300 Mean: 2CXE-2 300 60 1 [[#18 » KQ862 2HS-1-100 Mean: 2SN3 140 20 3
v 74 2SS2110 40  2SS3 140 3.0 1 v AJ97 1SN3 140 80  2HN3 140 20 2
+ KQ854 Dif: 190 NS:6 2DN4 130 3.0 1 + A Dif: -240 NS:-5 2DW-3 150 20 1
»4 IMP: 5 EW:-2 2SS2 110 2.0 4 » 982 IMP: -6 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100  -40 1 ||a& KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 v AQ9% N ~~331 v K43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ &AJT7 E ~~~~~ & J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1 100 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW3 -600 Mean: 4HE-2 200 8.0 1
v J732 3NN-3 -150 30 4HE-1 100 20 3 v Q42 3NW-2 200 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 250 NsS:2 3DS3 110 20 1 + KJ952 Dif: -800 NS:-10 3NW-1 100 60 3
& 53 IMP: 6 EW:5 3DN3 110 2.0 2 & 82 IMP: -13 EW:-8 3HE3 140 0.0 1
& AT9832 a7 2SW-1 100 20 1 » 983 » KQ 3CE5 150 00 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ 98 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NWS5 -460 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE-1 100 Mean: 3NE-2 200 60 2
v 653 3NW4 -430 -310 5DE5 400 -3.0 4 v QT652 1NE1-90 -50 1NE-1 100 40 1
3 Dif: -30 NS:-4 3NW4 430 -30 3 ¢ 63 Dif: 190 NS:4 1NE1 90 1.0 8
& QJT873 IMP: -1 EW:3 3NW3 400 30 3 & A85 IMP: 5 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 1NW5 -210 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 6DE-3 150 Mean: 5HN5 450 6.0 2
v A763 3NW5 -660 -460 1NW4 180 7.0 1 v K983 5DXE-2 300 230 4HS4 420 50 1
¢ AT2 Dif: 450 NS:6 1NW5 210 6.0 1 . Dif: -150 NS:-2 4HN4 420 50 2
& 42 IMP: 10 EW:5 3NW3 600 -40 3 & AQJT5 IMP: -4 EW:-2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




X AN >\ ¢ —_—
13 112 FZ 2AMBERE OB 2 ==> RI3 13
1 +
#1: 13 JHH176.02) #2: 11 BB Z52(169.97) #3: 10 FFH(154.77)
8 NS: HEH SERAGHO) 14 1 2 NS: #B{E3E #FEH(BIC) -7 VP:| 16.00 : 4.00 Total VP: 146.16 Rank:
EW: #5E ERZZEIC) 7 EW: ZZ8EB 2I3%¥K(BRO) -1 IMP:| 32 14 4
# 17 # J6543 2SS2 110 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN2 110 Mean: 2SN3 140 20 3
v 74 2SN2110 40  2SS3 140 3.0 1 v AJ97 2HN3 140 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:2 2DN4 130 3.0 1 + A Dif: -30 NS:1 2DW-3 150 20 1
»4 IMP: 0 EW:-2 2SS2 110 2.0 4 » 982 IMP: -1 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3NN-3 -150 Mean: 4HE-2 200 50 2 ||#20 s AT2 1NW3 -150 Mean: 4HE-2 200 8.0 1
v J732 3DN3 110 30 4HE-1 100 20 3 v Q42 3NW3 -600 -150 3NW-2 200 8.0 2
+ KQ2 Dif: -260 NS:-5 3DS3 110 20 1 + KJ952 Dif: 450 NS:0 3NW-1 100 60 3
& 53 IMP: -6 EW:-2 3DN3 110 2.0 2 & 82 IMP: 10 EW:10 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-150 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 -90 Mean: 3NE-2 200 60 2
v 653 5DE5 -400 -310  5DE5 400 -3.0 4 v QT652 1NE1-90 -50 1NE-1 100 40 1
3 Dif: 450 NS:8 3NW4 430 -30 3 ¢ 63 Dif: 0 NS:-1 1NE1 90 1.0 8
» QJT873 IMP: 10 EW:3 3NW3 400 30 3 & A85 IMP: 0 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW-1 100 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 4SE-3 150 Mean: 5HN5 450 6.0 2
v A763 3NW4 -630 -460 1NW4 180 7.0 1 v K983 5HN5 450 230  4HS4 420 50 1
¢ AT2 Dif: 730 NS:11  1NW5 210 6.0 1 . Dif: -300 NS:-2 4HN4 420 50 2
& 42 IMP: 12 EW:5 3NW3 600 -40 3 & AQJT5 IMP: -7 EW:-6 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *¢VAN 463 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




1128 F<E 2ABEREH

N

2 ==> R13

13

#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

9 NS: B 5 285 5 (BH0) -37 1 3 NS: SE1E ZiZ(EAC) 2 VP:| 1.03 18.97 | Total VP: 70.73 Rank:
EW: BEBIEE Efsk=(EAC) -2 EW: EEM ik T51E(FO) 37 IMP:| 0 34 14
# 17 # J6543 2SS-1-50 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 1SN2 110 Mean: 2SN3 140 20 3
v 74 3NS-1-50 40  2SS3 140 3.0 1 v AJ97 2SN3140 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:-3 2DN4 130 3.0 1 + A Dif: -30 NS:1 2DW-3 150 20 1
»4 IMP: 0 EW:3 2SS2 110 2.0 4 » 982 IMP: -1 EW:-2 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 5DXN-2 -300 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW3 -600 Mean: 4HE-2 200 8.0 1
v J732 5DS-1-50 30 4HE-1 100 20 3 v Q42 3NW-2 200 -150 3NW-2 200 8.0 2
+ KQ2 Dif: -250 NS:-8 3DS3 110 20 1 + KJ952 Dif: -800 NS:-10 3NW-1 100 60 3
& 53 IMP: -6 EW:2 3DN3 110 2.0 2 & 82 IMP: -13 EW:-8 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 -430 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 -90 Mean: 3NE-2 200 60 2
v 653 5DE5 -400 -310  5DE5 400 -3.0 4 v QT652 1NE1-90 -50 1NE-1 100 40 1
3 Dif: -30 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 0 NS:-1 1NE1 90 1.0 8
& QJT873 IMP: -1 EW:3 3NW3 400 30 3 & A85 IMP: 0 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW5 -660 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3DE3 -110 Mean: 5HN5 450 6.0 2
v A763 3NW3 -600 -460 1NW4 180 7.0 1 v K983 4HN4 420 230 4HS4 420 50 1
¢ AT2 Dif: -60 NS:-5 1NW5 210 6.0 1 . Dif: -530 NS:-8 4HN4 420 50 2
& 42 IMP: -2 EW:4 3NW3 600 -40 3 & AQJT5 IMP: -11 EW:-5 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




X AN >\ ¢ —_—
13 112 FZ 2AMBERE OB 2 ==> RI3 13
1 +
#1: 13 JHH176.02) #2: 11 BB Z52(169.97) #3: 10 FFH(154.77)
1 O NS: B SEEEHC) 11 6 NS: #iRXBA BRZE#A(BHO) 5 VP:| 12.42 : 7.58 Total VP: 154.77 Rank:
EW: R854 o[ ZE(BFO) -5 EW: [RE X B335(BAC) 1 IMP:| 18 12 3
# 17 # J6543 4DN-3 150 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN2 -110 Mean: 2SN3 140 20 3
v 74 3NS-150 40  2SS3 140 3.0 1 v AJ97 2HN3 -140 80  2HN3 140 20 2
+ KQ854 Dif: 100 NS:-3 2DN4 130 3.0 1 + A Dif: 30 NS:2 2DW-3 150 20 1
»4 IMP: 3 EW:5 2SS2 110 2.0 4 » 982 IMP: 1 EW:-1  1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1 -100 Mean: 4HE-2 200 50 2 ||#20 s AT2 4HE-2 -200 Mean: 4HE-2 200 8.0 1
v J732 2SW-1-100 30 4HE-1 100 20 3 v Q42 3NW-1-100 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 0 NS:2 3DS3 110 20 1 + KJ952 Dif: -100 NS:6 3NW-1 100 60 3
& 53 IMP: 0 EW:-2 3DN3 110 2.0 2 & 82 IMP: -3 EW:-8 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW3 400 Mean: 6DE-1 50 80 3 |[|# 22 4 532 2SE3 140 Mean: 3NE-2 200 60 2
v 653 3NW3 400 -310 5DE5 400 -3.0 4 v QT652 3NE-2-200 -50  1NE-1 100 40 1
3 Dif: 0 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 340 NS:6 1NE1 90 1.0 8
& QJT873 IMP: 0 EW:3 3NW3 400 30 3 & A85 IMP: 8 EW:3 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 1NW4 180 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3HN4 -170 Mean: 5HN5 450 6.0 2
v A763 3NW3 600 -460 1NW4 180 7.0 1 v K983 4HS4 -420 230  4HS4 420 50 1
¢ AT2 Dif: -420 NS:-4 1NW5 210 6.0 1 . Dif: 250 NS:5 4HN4 420 50 2
& 42 IMP: -9 EW:-7 3NW3 600 -40 3 & AQJT5 IMP: 6 EW:2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~




1128 F<E 2ABEREH

N

2 ==> R13

13

#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

1 1 NS: #FHE BESEEIC) 0 7 NS: BREAEE =i2{_(BRO) -3 VP:| 9.14 10.86 | Total VP: 169.97 Rank:
EW: B TTIEI0) 3 EW: FEtRHN SRiER(BAC) 0 IMP:| 24 26 2
-
# 17 # J6543 2CXE-2 -300 Mean: 2CXE-2 300 60 1 # 18 » KQ862 2HS-1100 Mean: 2SN3 140 20 3
v 74 2SS2-110 40  2SS3 140 3.0 1 v AJ97 1SN3 -140 80  2HN3 140 20 2
+ KQ854 Dif: -190 NS:2 2DN4 130 3.0 1 + A Dif: 240 NS:2 2DW-3 150 20 1
»4 IMP: -5 EW:-6 2SS2 110 2.0 4 » 982 IMP: 6 EW:5 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 110 1.0 1
¢T3 ¢ A72 28S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100  -40 1 ||a& KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4HE-1-100 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW3 600 Mean: 4HE-2 200 8.0 1
v J732 3NN-3 150 30 4HE-1 100 20 3 v Q42 3NW-2 -200 -150 3NW-2 200 8.0 2
+ KQ2 Dif: -250 NS:-5 3DS3 110 20 1 + KJ952 Dif: 800 NS:8 3NW-1 100 60 3
& 53 IMP: -6 EW:-2 3DN3 110 2.0 2 & 82 IMP: 13 EW:10 3HE3 140 0.0 1
& AT9832 a7 2SW-1 100 20 1 » 983 » KQ 3CE5 150 00 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ 98 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW5 460 Mean: 6DE-1 50 80 3 |[|# 22 4 532 ANE-1 -100 Mean: 3NE-2 200 60 2
v 653 3NW4 430 -310 5DE5 400 -3.0 4 v QT652 1NE190 -50  1NE-1 100 40 1
3 Dif: 30 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: -190 NS:-1  1NE1 90 1.0 8
» QJT873 IMP: 1 EW:4 3NW3 400 30 3 & A85 IMP: -5 EW:-4 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 1NW5 210 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 6DE-3 -150 Mean: 5HN5 450 6.0 2
v A763 3NW5 660 -460 1NW4 180 7.0 1 v K983 5DXE-2 -300 230 4HS4 420 50 1
¢ AT2 Dif: -450 NS:-5 1NW5 210 6.0 1 . Dif: 150 NS:2 4HN4 420 50 2
& 42 IMP: -10 EW:-6 3NW3 600 -40 3 & AQJT5 IMP: 4 EW:2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

1 2 NS: f3{FE #HFEBEAC) -7 8 NS: HEE £EHRA(BIO) 14 VP:| 4.00 16.00 | Total VP: 125.67 Rank:
EW: ZEREJE E/KEHO) -14 EW: #iRE E2EPRIC) 7 IMP:| 14 32 8
# 17 # J6543 2SS2 -110 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2SN2 -110 Mean: 2SN3 140 20 3
v 74 2SN2 -110 40  2SS3 140 3.0 1 v AJ97 2HN3 -140 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:2 2DN4 130 3.0 1 + A Dif: 30 NS:2 2DW-3 150 20 1
»4 IMP: 0 EW:-2 2SS2 110 2.0 4 » 982 IMP: 1 EW:-1  1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100  -40 1 ||a& KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 3NN-3 150 Mean: 4HE-2 200 50 2 ||#20 s AT2 1NW3 150 Mean: 4HE-2 200 8.0 1
v J732 3DN3 -110 30 4HE-1 100 20 3 v Q42 3NW3 600 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 260 NS:2 3DS3 110 20 1 + KJ952 Dif: -450 NS:-10 3NW-1 100 60 3
& 53 IMP: 6 EW:5 3DN3 110 2.0 2 & 82 IMP: -10 EW:0 3HE3 140 0.0 1
& AT9832 a7 2SW-1 100 20 1 » 983 » KQ 3CE5 150 00 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-1-50 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 90 Mean: 3NE-2 200 60 2
v 653 5DE5400 -310 5DE5 400 -3.0 4 v QT652 1NE190 -50  1NE-1 100 40 1
3 Dif: -450 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 0 NS:-1 1NE1 90 1.0 8
» QJT873 IMP: -10 EW:-8 3NW3 400 30 3 & A85 IMP: 0 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW-1-100 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 4SE-3 -150 Mean: 5HN5 450 6.0 2
v A763 3NW4 630 -460 1NW4 180 7.0 1 v K983 5HN5 -450 230  4HS4 420 50 1
¢ AT2 Dif: -730 NS:-5 1NW5 210 6.0 1 . Dif: 300 NS:6 4HN4 420 50 2
& 42 IMP: -12 EW:-11 3NW3 600 -40 3 & AQJT5 IMP: 7 EW:2 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

1 3 NS: E=EE EHREAC) 2 9 NS: R#R 2L H(F0) -31 VP:| 18.97 : 1.03 Total VP: 176.02 Rank:
EW: E&H} 2k/51E(BHO) 37 EW: EABNE BR:k = (BAC) -2 IMP:| 34 0 1
# 17 # J6543 2SS-1 50 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 1SN2 -110 Mean: 2SN3 140 20 3
v 74 3NS-150 40  2SS3 140 3.0 1 v AJ97 2SN3 -140 80  2HN3 140 20 2
+ KQ854 Dif: 0 NS:-3 2DN4 130 3.0 1 + A Dif: 30 NS:2 2DW-3 150 20 1
»4 IMP: 0 EW:3 2SS2 110 2.0 4 » 982 IMP: 1 EW:-1  1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 110 1.0 1
¢T3 ¢ A72 28S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 5DXN-2 300 Mean: 4HE-2 200 50 2 ||#20 s AT2 3NW3 600 Mean: 4HE-2 200 8.0 1
v J732 5DS-150 30 4HE-1 100 20 3 v Q42 3NW-2 -200 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 250 NS:-2 3DS3 110 20 1 + KJ952 Dif: 800 NS:8 3NW-1 100 60 3
& 53 IMP: 6 EW:8 3DN3 110 2.0 2 & 82 IMP: 13 EW:10 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 3NW4 430 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE1 90 Mean: 3NE-2 200 60 2
v 653 5DE5400 -310 5DE5 400 -3.0 4 v QT652 1NE190 -50  1NE-1 100 40 1
3 Dif: 30 NS:-3 3NW4 430 -30 3 ¢ 63 Dif: 0 NS:-1 1NE1 90 1.0 8
& QJT873 IMP: 1 EW:3 3NW3 400 30 3 & A85 IMP: 0 EW:1 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 2 v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2 ~1~~ v KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW5 660 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 3DE3 110 Mean: 5HN5 450 6.0 2
v A763 3NW3 600 -460 1NW4 180 7.0 1 v K983 4HN4 -420 230  4HS4 420 50 1
¢ AT2 Dif: 60 NS:-4 1NW5 210 6.0 1 . Dif: 530 NS:5 4HN4 420 50 2
& 42 IMP: 2 EW:5 3NW3 600 -40 3 & AQJT5 IMP: 11 EW:8 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W34~~3 W ~3~1~
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#1: 13 JEH (176.02) #2: 11 BB 52(169.97) #3: 10 FFH(154.77)

1 4 NS: Figsdl BEEREEC) 13 1 NS: E30&E 2I32#e(BOo) -1 VP:| 14.68 : 5.32 Total VP: 138.24 Rank:
EW: BN =EZEEI0) 1 EW: FREISC E32E(BAC) 1 IMP:| 29 16 5
# 17 # J6543 3NS-2100 Mean: 2CXE-2 300 6.0 1 [[#18 » KQ862 2HS2 -110 Mean: 2SN3 140 20 3
v 74 3NS-150 40  2SS3 140 3.0 1 v AJ97 2SN-1100 80  2HN3 140 20 2
+ KQ854 Dif: 50 NS:-3 2DN4 130 3.0 1 + A Dif: -210 NS:-5 2DW-3 150 20 1
»4 IMP: 2 EW:4 2SS2 110 2.0 4 » 982 IMP: -5 EW:-1 1SN3 140 20 1
» Q987 a KT 2SN2 110 20 1 ||aT9 » A754 2SN2 110 1.0 2
v KT3 v J852 3NS-1 50  -3.0 3 ||e QT6 I v 852 2HS2 10 10 1
¢T3 ¢ A72 25S-1 50 3.0 1 ||e KT75 ¢ 843 1SN2 110 1.0 1
& 9653 » KQ82 3NS-2 100 -40 1 || KQT7 » A43 2SN-1 100 -5.0 2
® VAN 4A2 4DN-3 4150 50 1 FOVAN ,J3 2HS-1 4100 -5.0 1
N ~3~21 vAQ9 N ~~331 vK43
S ~3~21 ¢J9% S ~~331 ¢ QJ962
E 1~~~~ a&AJT7 E ~~~~~ * J65
W1~~~~ W ~~~~~
# 19 » KQJ4 4DS-1 50 Mean: 4HE-2 200 50 2 ||#20 s AT2 2HE3 140 Mean: 4HE-2 200 8.0 1
v J732 4HE-2 -200 30 4HE-1 100 20 3 v Q42 3NW-1-100 -150 3NW-2 200 8.0 2
+ KQ2 Dif: 250 NS:5 3DS3 110 20 1 + KJ952 Dif: 240 NS:6  3NW-1 100 60 3
& 53 IMP: 6 EW:2 3DN3 110 2.0 2 & 82 IMP: 6 EW:0 3HE3 140 0.0 1
o AT9832 a7 2SW-1 100 20 1 ||a 983 » KQ 3CE5 150 0.0 1
v A95 v KQT64 5DS-1 50 20 1 K9 + v 87653 2HE3 140 0.0 1
¢ 54 * A9 4DS-1 50 20 1 ||e A8643 *Q 1NW3 150 0.0 1
& 74 » QT862 3NN-3 4150 50 2 ||a KQJ a AT754 4HE4 620 -100 1
*OVABN 4,65 5DXN-2  -300 -8.0 1 ¢ VAN 4 J7654 3NW3 600 -100 3
N ~3~~~ o8 N ~1~1~ ¢AJT
S ~ 3~~~ ¢JT8763 S ~1~1~ ¢T7
E 2~211 &AKJ9 E 4~4~1 &963
W 2-~211 W 5~4~1
# 21 & K732 6DE-1-50 Mean: 6DE-1 50 80 3 |[|# 22 4 532 1NE4 180 Mean: 3NE-2 200 60 2
v 653 6DE-1-50 -310 5DE5 400 -3.0 4 v QT652 1NE190 -50  1NE-1 100 40 1
3 Dif: 0 NS:8 3NW4 430 -30 3 ¢ 63 Dif: 90 NS:-1  1NE1 90 1.0 8
& QJT873 IMP: 0 EW:-8 3NW3 400 30 3 & A85 IMP: 3 EW:4 2SE3 140 3.0 1
s AT » J984 3NW5 460 -40 1 || KQT9 & A76 1NE4 180 -40 2
v AQ4 v v 84 v KJ93
¢ T9732 + AKQJ85 ¢ J954 + AQ87
+ K95 » 42 » J76 » K4
o+ VABN 4Q65 oo VABN 4 JB4
N 2~1~~ ¢ KJT987 N ~~~~~ v A7
S 2~3~~ 464 S ~~m~ -~ -~ * KT2
E ~5~~4 &A6 E ~4~42 &QT932
W ~5~~4 W ~4~42
# 23 » J874 3NW4 630 Mean: 3NW-1 100 11.0 2 ||# 24 s T972 4HN4 -420 Mean: 5HN5 450 6.0 2
v A763 3NW-1-100 -460 1NW4 180 7.0 1 v K983 3DE3110 230 4HS4 420 50 1
¢ AT2 Dif: 730 NS:11  1NW5 210 6.0 1 . Dif: -530 NS:-8 4HN4 420 50 2
& 42 IMP: 12 EW:5 3NW3 600 -40 3 & AQJT5 IMP: -11 EW:-5 5DXE-2 300 20 2
s QT9 » K6 3NW5 660 -50 3 ||s AJ84 » KQ5 6DE-3 150 2.0 1
v QT + v K985 3NW4 630 50 4 ||e 54 v QT2 4SE-3 150 2.0 1
¢ KJg4 + Q653 ¢ JT87 ¢ AK9543 3HS4 170 20 1
& AKT8 S » Q65 » 832 a4 3HN4 170 2.0 1
% ¢ VAN 4A532 *eVAN 4,63 3NE-2 100 4.0 1
N ~~~~~ v J42 N 4~4~1 v AJ76 3DE3 110 80 2
S ~~~~~ ¢ TO S 4~4~1 ¢ Q62
E 34~~3 &J973 E ~3~1~ aK976
W 34~~3 W ~3~1~




